How to Install Accessory Spare Wheel & ... Guide ID: 27 - Release: Version 1.0 [major] 2016-04-01

RUSSIAN MOTORCYCLES

How to Install Accessory Spare Wheel &
Carrier

A how to detailing the installation of a spare wheel assembly and carrier as an accessory for all
models where a spare wheel is not standard equipment.

1]
!
-
"y
Fe
-
-
e
e
’

-
-
.__,
oy
|
-
—
‘

"_r- i

This document was generated on 2020-06-17 12:34:22 PM (MST).

© 2020 ural.dozuki.com/ Page 1 of 5



How to Install Accessory Spare Wheel & ... Guide ID: 27 - Release: Version 1.0 [major] 2016-04-01

TOOLS: PARTS:
27mm Spare Wheel Spanner (1) Spare Wheel Holder IMZ-8.1037-21050-
10 (1)

Spare Wheel Nut IMZ-8.1037-21341 (1)

Spare Wheel Nut Gasket IMZ-8.1037-
21347 (1)

Anti-Vibration Protective Rubber Pads
IMZ-8.1037-19118 (4)
2015 & Newer Spare Wheel Assemblies

Hub Gasket IMZ-8.103-21346 (1)
2014 & Older Spare Wheel Assemblies

Screw M8-6gx20 1ISO 7380 M8x20 (4)
Washer M8 ZN DIN 125 M8 (4)
Nut M8-6H DIN 985 M8 (4)

This document was generated on 2020-06-17 12:34:22 PM (MST).
© 2020 ural.dozuki.com/ Page 2 of 5


file:///Item/27mm_Spare_Wheel_Spanner_IMZ-8.128-24018
file:///Item/Spare_Wheel_Holder_IMZ-8.1037-21050-10
file:///Item/Spare_Wheel_Nut_IMZ-8.1037-21341
file:///Item/Spare_Wheel_Nut_Gasket_IMZ-8.1037-21347
file:///Item/Anti-Vibration_Protective_Rubber_Pads_IMZ-8.1037-19118
file:///Item/Hub_Gasket_IMZ-8.103-21346
file:///Item/Screw_%25D0%259C8-6gx20_ISO_7380_M8x20
file:///Item/Washer_%25D0%259C8_ZN_DIN_125_M8
file:///Item/Nut_%25D0%259C8-6%25D0%259D_DIN_985_M8

How to Install Accessory Spare Wheel & ... Guide ID: 27 - Release: Version 1.0 [major] 2016-04-01

Step 1 — Remove Trunk Hinge Hardware

e Remove the two center bolts on the
left and right trunk hinges securing
the trunk lid.

@ Place the spare wheel carrier in position on top of the trunk hinges and secure.

@ Spare wheel carrier mounting holes will line up when mounted correctly.
The removed 4- 8x16mm bolts are no longer required.

o Fasten the spare wheel carrier using 4 - 8x20mm bolts.

This document was generated on 2020-06-17 12:34:22 PM (MST).

© 2020 ural.dozuki.com/ Page 3of 5



How to Install Accessory Spare Wheel & ... Guide ID: 27 - Release: Version 1.0 [major] 2016-04-01

Step 3 — Install Protective Rubber Spacers

@ For 2015 and newer disc brake
spare tire assemblies 4 - anti-
vibration protective rubber pads are
required.

e Place spare wheel assembly on
carrier and mark hub location on
carrier.

e Adhere anti-vibration protective
rubber pads to intersect with hub
location marks.

(@) For 2014 disc brake spare wheel
assemblies or 2013 and older drum
brake models use hub gasket IMZ-
8.103-21346 in place of anti-
vibration protective rubber pads.

Step 4 — Install Spare Wheel

e Install spare wheel assembly onto
spare wheel carrier.

(G) For 2015 and newer spare wheel
assemblies, position the spare
wheel assembly with spare wheel
disc brake adapter placed up.

(@) For 2014 disc brake spare wheel
assemblies or 2013 and older drum
brake models, position the spare
wheel assembly with open side of
the hub placed down.

This document was generated on 2020-06-17 12:34:22 PM (MST).

© 2020 ural.dozuki.com/ Page 4 of 5



How to Install Accessory Spare Wheel & ... Guide ID: 27 - Release: Version 1.0 [major] 2016-04-01

Step 5 — Install Spare Wheel Nut

e Install spare wheel nut and secure
spare tire assembly to carrier.

e Tighten with 27mm spare wheel
spanner P/N 128-24018

This document was generated on 2020-06-17 12:34:22 PM (MST).
© 2020 ural.dozuki.com/ Page 5of 5



	How to Install Accessory Spare Wheel & Carrier
	Written By: David

	TOOLS:
	PARTS:
	Step 1 — Remove Trunk Hinge Hardware
	Step 2 — Install Carrier
	Step 3 — Install Protective Rubber Spacers
	Step 4 — Install Spare Wheel
	Step 5 — Install Spare Wheel Nut


